8 7

T
ENG F.20.041D-(FORM REV A)

4

3

2

NOTES: (UNLESS OTHERWISE SPECIFIED) REV|S|ONS
1. RATED DESIGN LOAD +46/-52 PSF. ER | REV DESCRIPTION DATE | APV
2. SECTION HEIGHTS MAY VARY TO CREATE VARIOUS DOOR HEIGHTS, 20.8 MAYMUM SECTION HEIGHT. 32537 | A |ADD NOTE 18: IBC/IRC 11/30/20| JQ
3. MINMUM 1" OVERLAP ON BOTH JAMBS REQUIRED TO MEET NEGATIVE DESIGN PRESSURES.
4. TESTED IN ACCORDANCE WTH DADE COUNTY PROTOCOLS TAS 201-94, TAS 202-94, & TAS 203-94,
5. DOOR SKIN MUST BE 33,000 PSI MIN. YIELD STRENGTH. . . _ .
6. JAVB LOAD CALCULATIONS: OV |
(1/2 DOOR WDTH)(1 FT OF HEIGHT)(DESIGN PRESSURE) =
(9.067)(1_FOOT)(46.00 AND —52.00)(417.1/-4715) LB. C = = = = = = ==
7. JAVB FASTENER REQUIREMENTS:
Fy =g /2 DOOR WDTH)(1 FT OF HEIGHT)(DESIGN PRESSURE) 164X 3" ENPSTLES. ATTACHED SECTION A-A
F,=411.1 LBS. AND (4) #8-15X9/16" SCREWS ' DOOR JAMB
< 8. DOOR SKIN MATERIAL SHALL BE GALVANIZED ACCORDING TO ASM A-525 TO G0 MIN, WITH BAKED-ON PRIMER, AND BAKED-ON POLYESTER PAINT TOP COAT. -
9. FOR ANCHORING INTO WOOD,USE ONE 5/16" LAG SCREW PER JAMB BRACKET WITH 1-1/2" EMBEDMENT INTO SOUTHERN PINE (6=0.55) OR BETTER. 206X 35 SEVTER STAES, ATTAGKED
10 APPROVED INSULATED AND NON-INSULATED: 170 (25GA), 180 (25GA), 0.0209" MIN STEEL. () R 15K /16" SCREWS
1. WELD SLOT ON ANGLE AND 3/32° X 1" LONG ON 12" CENTERS. "IF WELDING MOUNTING OPTION IS CHOSEN.”
12. LIFT UP MECHANISM-MANUAL, CHAIN LIFT, OR OPERATOR IS NOT PART OF THIS' APPROVAL
13. STANDARD LT, HIGH LIFT, VERTICAL LIFT, AND LOW HEADROOM TRACK IS AVAILABLE. FOR LOW HEADROOM LIFT CONDITIONS TOP BRACKET SHALL BE 13 GA LHR 7/4 TOP
GRACKET WTH A M OF (3) 1/4 = 14 X 7/8" SELF DRILLING CRMPTITE SCREWS IN' LIEU OF THE BRACKET SHOWN ON DRAWING. U-BAR ON TOP SECTION SHALL BE INSTALLED ON TOP :
14 ATTACH STRUTS WTH ('2%2 1 [{4»—14x7 8" SELF DRILLING CRMPTITE SCREWS AT ALL STILE LOCATIONS, TYP. LOCATED WITHIN 6" , +/- 3" FROM TOP AND BOTTOM OF SECTION. STEEL SECTON SKIN
15. KEY LOCK, SIDE LOCK, OR ORAWBAR OPERATOR REQUIRED. 2" TRACK ANGLE
16. INPACT RESISTANT GLAZING OPTION- IMPACT RESISTANT GLAZING SYSTEM MAY BE INSTALLED INTERMEDIATE SECTION OR TOP SECTION. GLAZING SHALL BE 1/4" POLYCARBONATE. 13-3/4° X OR 3 TRACK ETANER
20-1/8" MAYMUM SIZE, FASTENED WITH # 8 X 1° SHS: 3X MIN ALONG THE HORIZONTAL AND 2X MIN ALONG THE VERTICAL. SEE DETAIL F~F ON SHEET 2 FOR ASSEMBLY DETALS. WEATHERSEAL
17. THE DESIGN OF THE SUPPORTING STRUCTURAL ELENENTS SHALL BE THE RESPONSIBILITY OF THE PROFESSIONAL OF RECORD FOR THE BUILDING OR STRUCTURE AND IN (ASTRAGAL)
ACCORDANCE WITH CURRENT BUILDING CODES FOR THE LOADS LISTED ON THS DRAWING. B
18. DOORS ARE DESIGNED AND MANUFACTURED TO COMPLY WTH REGULATIONS PER BUILDING CODES: 2018 IRC AND 2018 IBC SECTON E-E DETAL B
: SCALE 1: 4
ND BEARING BRACKET, STANDARD LIFT
SHOWN, LOW HEADROOM CLEARANCE
AVAILABLE ( SEE TRACK DETAILS ON SHEET 3)
__5 ) CABLE DRUM /SHAFI' TORSION SPRING COUNTERBALANCE N
2.00 14 GAUGE 1.00 — _
- TIORIZONTAL TRACK | f 2475-2_—5 | ? AR AR ;
18.00 o= 8.25
17.125 14125 | — —TOP FIXTURE
NON-INSULATION ' @? : -
f <«
. g g g g g || g I I 9 I 7
30 GAUGE STEEL COVER SHEET | SECTON onLy N & i i i 5 & " 15" MAX 0.C
NWW\\\\W\\ D ok L 15" MAX (TOP TRACK CLPS ONLY) o track = = (TOP ONLY)
> - OR 3" TRACK A A
4 STRUT — = man|
RN e . = = - LT T
OPTIONAL \—1 PCF EXPLANDED STAMPED PANEL 8 18] 8 8] i8] 8 1
INSULATION POLYSTYRENE (EPS) (ONE ROW ONLY) B F—— . n n " il
2 4 : 4 4 i e
SECTION C-C 3 GAUGE &
SCALE1 - 4 VERTCAL TRACK £ — & — = -
JAMB_BRACKET SLIDE LOCK - = ——
PLACEMENT VARIES T~ : : . r— 12”
ON DOOR HEIGHT \ b END STILE || || 9 || || [8) || || 5} 1S} I 8 of L | -
: END HNGE ——— | /\u - 12
ssar_}\ X ROLLER vy i = kT = Xik ﬁ” |
’.‘ZP.TETE* “W CENTER STLE—— | | = : 7
” ? .'.:9 .. | Jal] BOTTOM FIXTURE @ @ @ @ @ @ @ _ 1t &
I ) T s A A A N i 2l )
2o 2 s ixd g JANB BRACKET = : : : : , . . 1_?1
7 JOHNE.SCATES } 2O = = = = = = = 25
" ......................... ’/ A c
'0;99"._ 56308 & 182" MAX WIDTH B
W% oenseR oS
‘\{ /..O'N'A'C.E 0" THRD ANCLE PROECTN UNLESS OTHERWFSE SP'.C' |ED APPROVAI_S A C The Genuine. The Original. 2501 S TX_121 BUS
- =~ ES: A 4-11- D D5 ?
ONALS INTERPRET DIMS, & TOLS TOLERANGES: R ——A=I= T G gy | rysiiie o
©= PER ASNE 114.5H WS 103 20 S 350 )
JOHN E. SCATES, PE ALL DS AR IN XK = £.010 MATERTAL - HM 71/175/180/181/185/ |
N . 2560 KNG ARTHUR BLID f124-54 DO NOT SCALE s R FINSH - 1400/1500 18'2" MAX WIDTH
Digitally signed by John E. Scates, P.E. FLPE 51737 TX PE 56308/F2203 OIS, GRELED Wy Ogm% Nan) gzsf_g.ggg) =+.004/-.003 WINDLOAD SPECIFICATION SIZF [DWG 'NO. REV
D ©2020.11 17:44:34 -06'00" ARE CRITICAL A DESIGN : y _—I"OOS - OPTION CODE 1148 D D-411690 A
ate: 2020.11.30 17:44:34 -06'00 PROTESSOUAL ENGNEER'S SEAL PROVIRD OMLY FOR FEATURES & NUST VEET APPLICABLE e 000 <k OOB/C0S Lo
VERIFICATIO AD"CON N DETALS. IN-PROCESS INSPECTION STANDARDS. A : SCALE 1:12 | UOM = EA | SHEET 1 OF 4
T 5 T T

1


John
TX PE Box


8

4

2 1

NOTES: (UNLESS OTHERWISE SPECIFIED)

/sx

3/8"

ASHER, MAX QOF 16” 0.C., MIN
2-3/4""EDGE DISTANCE

<—>’72.75" EDGE DISTANCE

// 6=0.55

WOOD MOUNTED TO #3 SOUTHERN PINE SUBSTRATE

X 3" LAG SCREW, WITH 1-1/8"

2 X6 43 5P (6=055)
OR BETTER

2 X 643 P (6=055)

OR BETTER

5/8 LAG SCREW INTO, MIN.

) OR BETTER,

DOOR gLEVAT?ON ON SHEET 1 FO
HOLE LOCATIONS)

16 GA JAMB BRACKET /

(10) #8 X 17
SHEETMETAL SCREW

‘—TZJS +1" EDGE DISTANCE

3/8” DIA. SIMPSON T\TEN HD

FASTENER, MAX. OF 12 "0.C 3/4”
MIN EMBED" INTO"MIN. 1500 F’S\ GROUT

4" EDGE DISTANCE

7

/'\

FILLED CMU, MIN 4" EDGE DISTANCE

=

{

MOUNTING TO

R( SEE

TRACK CLIP

1/4-20 xg/wa”/

TRACK BOLT AND
1/4-20 HEX NUT

4-20 X 9/16;
ARS8 %

1/4-20 HEX NUT

MOUNTING TO WOOD JAMB

¥1 3 GA CONT.

WALL ANGLE

OPTIONAL: WALL ANGLE MAY BE
ATTACHED TO SUPPORTING STEEL WITH
A MIN. (1) 1/4-14 X 1" SELF DRILLING
SCREW WITH 17 0.D. WASHER IN LIEU
OF WELDING. (SEE DOOR ELEVATION

STEEL JAMB ON SHEET 1 FOR HOLE LOCATIONS)

DETAIL

/DAYUGHT OPENING=9 3/47X15 7/8"
14GA BOTTOM F\XTURE ATTACHED

7O SECTION WITH ( %4 14 X 7/8"
SELF DRILLING CR\M TITE SCREWS

DETAIL

I
[ \
~1/8” 0.0. WASHER —— 2 X

WOOD MOUNTED TO GROUT FILLED
MASONRY BLOCK DETAIL

4" EDGE DISTANCE

CMU, MIN. 4"

C

NI
ANCHOR

1" 0.0. WASHER
FOR HOLE LOCATIONS)

MOUNTING TO GROUT FILLED MASONRY
BLOCK DETAIL

SECTION £ - E
SCALE 1: 4

11 GA TOP FIXTURE COMMERCIAL
A-FRAME BRACKET

2 ANCHOR OPTIONS:
3\13/8 DIA. SIMPSON T\TEN HD_FAS
EMBED INTO MIN. 1500PSI GROU

EDGE DISTANCE
) 3/8 D\A HILTI KWIK BOLT 3, EXPANSION
—1/2" MIN. EMBED, MIN. 4" EDGE

<—>’73” EDGE DISTANCE

ﬁS/B D\A S\MPSON T\TEN HD FASTENER, MAX. OF
3/4" EMBED INTO MIN 2500 PSI
CONCRETE M\N ks EDGE DISTANCE

7/

WOOD MOUNTED TO 2500PS
CONCRETE DETAIL

6 #3 SP (6=0.55) OR BETTER

-1/8" 0.D. WASHER

EDGE DISTANCE

OTENEee?

-3/4"

OO N

N> 1-5/8" MIN. EMBED, MIN 4" EDGE
\S ANCE

ANCHOR /
17 0.D. WASHER

SEE DOOR ELEVATION ON SHEET 1

MOUNTING TO

SEE DOOR ELEVATION ON SHEET 1
FOR HOLE LOCATIONS)

3 ANCHOR OPTIONS:

%3%8 DIA. SIMPSON_TITEN HD FASTENER,
MIN. £MBED INTO MIN" 2500PSI CONCRETE, M\N
3 EDGE, DISTANCE

2.) 3/8" DIA. HILTI KWK BOLT 3, EXPANSION
‘NSC?XOR 2-1/2" MIN. EMBED, MIN. 4" EDGE

a/a DIA. POWER LOK/BOLT, EXPANSION

2500PSI CONCRETE

3GA ROLLER SLIDE ATTACHED TO
TOP FIXTURE WITH 1/4-18 BOLT AND
NUT IN_CENTER SLOT AND 1/4-20 X

16" TRACK BOLT AND 1/4-20 HEX
N T THROUGH ALIGNING HOLES

DETAIL

1GA WIDE BODY END HINGES.

1

-3/4]

m

>

N wi POLYCARBONATE HINGE ATTACHED WITH ( 2} {4 14 X
GLASS BITE 0.5 N
INTERIOR FRAME EEEERP%FEM@NUM e o %égBEévE;LDEz)DR&FUvag\CCHR i
6063-T6 ALUMINUM .
™ —poor secTion W S5 %
gn o >2 7616 DIA STEM TOP AND BOTTOM
. WINDOW DETAIL %\O 0 /\ A ROLLERS ¢
S 09 8 AT e e
SCALE 1: 4 DETAIL J CRIMPTI E CREWS DETAIL H
0 o o SCALE 1: 4 SCALE 1 : 4 DETAIL |
olfr] SCALE 1: 4
OPTIONAL WALL ANGLE TRACK
126A EXTENSION BRACKET X LA M, 136A MIN 13GA MIN TRACK
DETAIL K S \[L)UW‘GTHCW it Skl ® WALL ANGLE TRACK CONTINUOUS TRACK %%TLT‘%UN%%E
SCALE 1 : 4 @) WALL ANGLE
ALY 1 TRACK © ° Wﬁ 11GA MIN TRACK
=5 ~SXE OF 5*\\ f op 8 SRhEDuLe /\ﬁ o 8 JSAEDuLe CLP' SEE. SCHEDULE
-~
B ~ 6 * . . © S
25 A *'o' N * | e | Wil W o | Ui U TS
4 % ad < H—1/4=20. TRACK. OR 0 9 / V420 NUT
L L N 149 § crery)|[ et
/ JOHNE.SCATES / SRRt >y
"..... ......................... :...’ (T@BLMX§7€\/6ETSSEM‘ o |:| EZ(; 1/4-20x9/16 TRACK 0 2
| "‘%;. 56308 ..2‘?: LT AND 1/4-20 HEX NUT i
‘A\ {./CENSQQ \‘\ < 16GA STIFFENED = TYPICAL TRACK CLIP RIVETING DETAIL TYPICAL TRACK CLIP BOLTING DETAIL TYPICAL TRACK CLIP WELDING DETAIL
‘\\ TORAL BN B BRACKET UNLESS OTHERWISE SPECIFIED APPROVALS DRI rve Gemine o0l 9507 s Tx_1] BUS
) THIRD ANGLE PROJECTION . 11— )
RSN TYPICAL TRACK AND JAMB FASTENERS DETAIL INTERPRET DIMS & TOLS TiotERANQES‘ oy a1 G gy e Texss
@—g PER ASME Y145 X o=t
X =403 APPROVED — - DESCRPTIO
' JOHN E. SCATES, PE AL DU A e = 100 MATERIAL - 170/171/175/180/181/185/
i 00 HOT SCALE s N § 1400 /1500 187" MAX WDT
: : < 0.251 =+.004/-.003 WINDLOAD SPECIFICATION SZEDWG 'NO, REV
S B e 0 R | i | RS 5T Y A
FEATURES & MUST MEET APPLICABLE =
s VERIFICATION” OF WINTLOAD” CONSTRUCTION DETAILS. IN-PROCESS INSPECTION STANDARDS, | ALE GEOMETRY GOVERNED i LAD DATABASL: SCALE | \ UOM = EA | SHEET 2 OF ¢
‘ 5 5 t . 4 ‘ 3 2 1

ENG F.20.041D-(FORM REV A)


John
TX PE Box


8

NOTES: (UNLESS OTHERWISE SPECIFIED)

CENTER STILE AND INTERMEDIATE HINGE LOCATIONS

=© > >
® 18] 8} I8} I8} . 7 7 %
i Vi ' ;
17-18' Ll
DOOR HEIGHT )7
LOW HEADROOM
o o b TRACK DETAIL
- s == sg SECTION DOORS WK
J 7 4 15) 4" 166A 80 KS U-BARS
J 19 F 150 B0 K3, onek
__ i LOCATED AS SHOWN \
4" STRUT [,) 1T = 72 SECTION DO0Rs W I
i ; 166A 80 KSI U-BARS
E / {8 186A 80 KSI U-BARS r
i CATED AS SHOWN
6.5 REF. (MIN) = \
> 1 HIGH LIFT {? ) FT00N S0 ST LBps
4.75 MIN. SPACING /) TRACK DETAIL 1)°3" 186A 80 KSI U-BARS
(FLANGE T0 FLANGE) | H O) CATED AS SHOWN
¢ g \
6.5 (MIN) {3 SECTION DOORS WITH .
D 9) 4" 16CA 80 KSI U-BARS _
1] 3" 186A 80 KS| U-BARS
LOCATED AS- SHOWN
= 4 EIn s \
. N Ej 3" 18CA 80 KS U-BARS i
(M) 4" STRUT CATED AS SHOWN P
N/
o " STRUT MAY OVERLAP HINGES, ATTACHED
%WRT\MP((ZWI e A
LOCATION
_ D
- = | d
DETAL N
SCALE 1 : 4
STOF TN ]
- 1?: ....... Ex I\ 3 STRUT ATTACHED WITH (2).1/4~14x7/8"
PN oY, i : SERLICER e
A "-,*‘I' DOOR HEIGHT STANDARD LIFT I VERTICAL LIFT
;* .......................... :.*..I ’ m DOOR HEIGHT TRACK DETAIL
/ JOHNE.SCATES J AR CEIAL “h
'.....' ......................... i .....,’
| ";99'. 56308 ‘8:: STRUT LOCATIONS
- DETAIL O :
‘\ s </CEN860 \‘\Ef;v et 0, SCALE 1: 16
\\\ /{)NALE o UNLESS OTHERWISE SPECIFIED APPROVALS — DATE  [the Genuine. The Original. 2501 S TY=121 BUS
A THRD ANGLE PROECTION TOLERANCES: DRAWN G.CLARK 4-11-19 | 2T g
NTEREREL VS, e TOLS T =1 CHECKED — DAORNSE 216200 ¥ LEWSVLLE, TEXAS
@—g : 231 — -
ALL DIMS ARE N 'Xxxxx = ?8130 Oi?E%Y\ED - DESCRw%O 71/175/180/181/185/
2560 KNG ARTHUR BLUD. f124-54 NCAHES ANGULAR = £.5° FINISH -
LEWISVILLE, TX 75096 DO NOT SCALE HOLES: 505 / 400/ 1500 182" MAX WIDT
FL PE 51737 TX PE 56308/F2203 DIMS. CRCLED WITH symgaL ' C < :+ 004 -.003 WINDLOAD SPECIFICATION SIZE [DWG N0 REV
bt o WA | 7 S g 2 e L :
VERIFICATION” OF WINDLOAD CONSTRUCTI IN-PROCESS INSPECTION STANDARDS, [FLL GEONETRY e B CAD DATABASE: SCALE 1:12 \ UOM = EA | SHEET 3 OF 4

ENG F.20.041D-(FORM REV A)

6

4

3

1

>


John
TX PE Box


8

>

NOTES: (UNLESS OTHERWISE SPECIFIED)

1. FOR DIMENSIONS AND NOTE REFERENCES, REFER TO INDIVIDUAL DRAWINGS.

LENGTH = DOOR WIDTH —1"

6.51
— : D g 1,92 ~——LENGTH = DOOR WIDTH 1
=270 7{ R4 r275’ \\ \\ 2.5 :ES X T e} e}
=0 g H g /\5_60 é  — = = = = *L J . I . B
o 0 o § 8 ————112 A
°c o ° J 40—
ROLLER CARRIER 4” STRUT (UBAR) 3" STRUT OPEN WL (UBAR)
BASE TOP FIXTURE
I0F FIRTURE ASSY. T1CA 13GA 80 KSI MIN. YIELD STRENGTH, 4" X 16GA 80 KSI MIN. YIELD STRENGTH, 3" X 18GA
TOP FIXTURE DETAILS STRUT DETAILS
(~—2.24—= B
0 ( — — SECURED WITH (4) SCREWS 1/4-20 X 7/8"
® 77* U 5.561
1.499 o o R.238 i q 2.34 THROW
«H © iﬁ» ’ X25 \ ‘Lﬁ,’l'ﬂ' 6; 7.38 g: 7.38 {7 0000
| DQ b ’LQ'SOJ« 0" REF. J 419 H 2
*LWJ«BOTTOM . *7:5 75 22220 100 x .150" THICK—
VTN BRACKET, TOP, RES, LHR 320~
12 CA CENTER HINGES END HINGE
14GA 11GA SLIDE_LOCK ASSY.
BOTTOM FIXTURE DETAILS
HINGE DETAILS LOCK DETAILS
9.00 REF. 7
—0.44 REF 9.3 REF. | —9.55 REF. ? )
J +(]0 %
j;téi , w@ 1.81 REF. [ } D UD
| 2.8 REF.
= i -
i
7/16” STEEL PUSHNUTS U
ROLLER ASSY, 2” WL 1144 (STEEL ROLLER) ROLLER ASSY, 3" WL 1144 ©
18.07
~ NNy <
SIREQRTE N, ROLLER STEM ASSY DETAILS (WITH PUSH NUTS) B
” 6 e '._\9 .. 3
Zu *" Q yt
,’* ; e I’ 375 2X 831 =
,O 00000000000000000000000000000000 9360 REF C )
¢ JOHNE.SCATES )} ™ I - JAMB BRACKET A — L
[ A ,/ , 1.81 REF. T6GA | =
l';% - 56308  :aZ P BRACKET DETAILS T ear e
s —
W /\ONTA\_E - UNLESS OTHERWISE SPECIFIED APPROVALS ~ DATE | The Genuine. The Original. 2501 S TX=121 BUS
N , THRD ANGLE PROECTON TOLERANCES: DRAWN G.CLARK 41119 | -5 )
ROLLER ASSY, 2" WL 1144 (NYLON ROLLER) \NTEPREF%R%TSMDE\M% fS&OB st T DRS00 T ¥ [EWSVILLE, TEXAS
JOHN E. SCATES, PE NCHES e = 100 MATERIAL - 170/171/175/180/181 185/
80 A 4o 0 NOT SCALE S FNISH - 1400/1500 182" MAX WDT
FL PE 51737 TX PE 56308/F2203 DIMS CIRCLED WITH sywBoL ' (D <0091 =+.004/-.003 WINDLOAD SPECIFICATION SIZE \DWG  NO. REV
PROFESSIONAL ENGINEER'S SEAL PRO/\/DED ONLY FOR FEéxRTEUECERSCTaEAMLUg ﬁ%é% HAYPF?LE\E‘/EBNLE @.25;%%388 188%:88% I T ’ e i
VERIFICATION” OF WINDLOAD” CONSTRUCTION DETAILS. IN-PROCESS INSPECTION STANDARDS. ~|ALL GEOMETRY GOVERNED BY 3D CAD DATABASE: SCALE 1:12 | UOM = EA | SHEET 4 OF ¢
T T ]

ENG F.20.041D-(FORM REV A)

6

4

3

2


John
TX PE Box


	411690 SERIES 170_180, 18'2 MAX WIDE, 46,-52 PSF 1
	411690 SERIES 170_180, 18'2 MAX WIDE, 46,-52 PSF 2
	411690 SERIES 170_180, 18'2 MAX WIDE, 46,-52 PSF 3
	411690 SERIES 170_180, 18'2 MAX WIDE, 46,-52 PSF 4

		2020-11-30T17:43:55-0600
	John E. Scates, P.E.


		2020-11-30T17:44:04-0600
	John E. Scates, P.E.


		2020-11-30T17:44:13-0600
	John E. Scates, P.E.


		2020-11-30T17:44:22-0600
	John E. Scates, P.E.


		2020-11-30T17:44:34-0600
	John E. Scates, P.E.




